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6.89  Itis known that the velocity distribut
laminar flow in circular tubes (either horizont

on for steady,
al or vertical)

is parabolic. (See Video ¥6.6.) Consider a 10-mm diameter

horizontal tube through which ethyl alcohol is
a steady mean velocity 0.15 m/s. (a) Would y
velocity distribution to be parabolic in this ¢
(b) What is the pressure drop per unit length aj

flowing with
ou expect the
ase? Explain.
long the tube?

(a) Check Keynolds pumber b Jettrmne 1£ FHow is Jaminar:

« A
Re = /0};{ R)=

T/w;/ The Flow 15
would be

(787 2% )(0.15 2 )(0.000.m)

Caxs I = 995 < oo

Jamnar and velocty  cister buton

Darabolic . Yes.

() Since The Hlow s laminar
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